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(Most Important In All Boards) Repeated many
times. Total (55 Definitions)

Define reciprocal & radical equation with example.
Define ratio & proportion.

Define direct and inverse variation.

What is meant by identity?

Define rational fraction with example.

Diff b/w proper & improper fraction with example.
Define one-to-one function & Harmonic means.
Define variance & mode.

Define right angle & degree.

10. Define circular area of circle.

11. Define circum-angle & circle.

12. Define function, bijective function & geometry.
13. Define range & angle.

14. Define chord of a circle & inscribed circle.

15. Define Arc of a circle & secant.

16. Define coterminal angle & regular polygon.

17. Write three properties of means.

18. Define median & class limit.

19. Define subset & De-Morgan Law.

20. Define class mark & class boundary.

21. Define Arithmetic mean & Frequency distribution.
22. Define weighted Arithmetic mean & Moving Average.
23. Define Quadrantal angle & angle of elevation.

24. Define acute & obtuse angle.

25. Define zero dimension & Projection of a point.

26. Define diameter of a circle & vertices.

27. Diff b/w miner and major arc.

28. Define sector & segment of a circle.

29. Define collinear & non-collinear point.

30. Define tangent of a circle & length of a tangent.
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CHAPTER#1

(Most Important In All Boards) Repeated many times.
(SHORT Questions)

1. Solve:v3x + 18 = x.

2. Solve: 3y? = y(y — 5).

3. Solve: x2 — 11x = 152.

L8 Lld b (55 (! v o o0 3Sy92 pled)
(Vg 3 947)

-(3x+18)=xV :(S J=>

- [3y) ~2=y(y-5) 108 U=
XA2-11x=152 :p)S J>
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Solve: 3x% — 6x = x + 20.
Solve: 5x? = 30x. & 5x?% = 15x.
_ 1\2 9
Solve: (Zx — E) =
Solve by completing square: 3x% + 7x = 0.
Write in standard form: (x + 7)(x — 3) = —

Write in the standard form: % - x—z +4=0.

.Solve: x? +2x — 2 = 0.

(Most Important LONG Questions)

Solve: 7x2 + 2x — 1 = 0 by completing square.
Solve: (x —1)(x —2)(x — 8)(x + 5) + 360 = 0.
Solve: 2x + 5 =V7x + 16.

Solve: 2x* = 9x2 — 4.

Solve: 3x™%2 4+ 5 = 8x~1,

Solve: 5x /2 = 7x'/a — 2.

Solve: 11x2 — 34x + 3 = 0 by completing square.
Solve: x2 — 2x — 195 = 0 by completing square.
Solve: 3x2 + 7x = 0 by completmg Square

Solve by using quadratic formula: 4x* = 9x? — 4.

- [3x] 72-6x=x+20:,S J>
- [5x] ~2=15x sl - [5x] "2=30x:p)S J>
-(2x-1/2)72=9/4 : p,S J>
- [3x] A247x=0 1S U= 5 58 JSo pose
-(x+7)(x-3)=-7 108 e S Sl
-(x+4)/(x-2)-(x-2)/x+4=0 : ;¢S o S S)lare
XA242x-2=0 1S >
(©Ygw Auadi)

- [7x] r2+2%-1=0 & 8 JSo pose
-(x-1)(x-2)(x-8)(x+5)+360=0
-X+5=V(7x+16)2
- [2x] 4= [9x] ~2-4

-(1)n [3x] ~(-2)+5= [8x]
- [5x] ~12)= [7x] ~14)-2
- [12x] 72-34x+3=0 5 S USo poye
-85S JeSe poye xM2-2%-195=0 :3,S J>
- [3x] 22+7x=0 8,8 UKo puyo 1S J>
[ax] na= [ 1008 d> 88 Sl dga)ld 5552
-9x] ~2-4

oS J>
S J>
S J>
S J>
‘oS J>
oS J>
tosS J>

CHAPTER#2

(Most Important In All Boards) Repeated many times.

CoNoarwDNE

16.
17.
18.
19.
20.

(SHORT Questions)
Find the product of complex cube roots of unity.
Evaluate: w37 + w38 + 1.
Evaluate: (2 + 2w — 2w?)(3 — 3w + 3w?).
Evaluate: (1 — w — w?)”.
Write the quadratic equation having roots:
Write the quadratic equation having roots:
Write the quadratic equation having roots:
Write the quadratic equation having roots:
Write the quadratic equation having roots:

V2 and 3 — /2.

3,4.

4,9.

-2,3.
1+i,1—1.
3+

. Find the nature of roots of: x? — 23x + 120 = 0.
11.
12.
13.
14.
15.

Find the nature of roots of: x2 + 3x + 5 = 0.

Find the discriminant: : 6x%2 — 8x + 3 = 0.

Find the discriminant: : 4x2 — 7x — 2 = 0.

Find the discriminant: : 9x2 — 30x + 25 = 0.

Find the nature of the roots of quadratic

equation:: 3x?> + 7x — 13 =0

x2+3x+5=0

Find the sum & product of roots: : x? — 5x + 3 = 0.
Find the sum & product of roots: : 2x? + 3x + 4 = 0.
Find the sum & product of roots: :

when: (x2 + 7x — 1) = (x + 1).

3x2+7x—11 = 0.
Use synthetic division to find the quotient &remainder,

A8 Lo Jb &S (o) e o oo 39 pleS)
(@9 3 942)

-8 G gl § 095 S oz (§ S
-WA37+WA38+1 1S oyl

S(w-2w] A2) [(3-3w+3w] 722+2)] xS o3Il
-w-w] A2)] A7-1)]] :0esS ol

23,4 1S Olglns H5S5> Jlg 095>

-4,9 1S Olglus H5Ss> s 093>

-2,3- Zu}@ﬁ o\gwﬁf}? J\‘g 9=

1] e Olglcs H9Sex Jlg 095>

-2V-3 )9l 2V+3 1 (ngSd Wlgluws y5Ss> 19 095>
-X12-23x+120=0 :(p,S polae Cuc el § 095> §
XA243x+5=0 ipyS pokae Cuc i § 05> § o

- [6x] 22-8x+3=0::()S D oS Soluw (Sjliial

- [8x] 72-7%-2=0: : (S S Solaw S)leial
[ox] A2- 11508 (236 65 DIy 5 S Sohuw il
-30x+25=0

(S5 sl al G)

6 S (£ 5000 5 o (57 § Slolws 4 591 3 S|
xM+ [2x] 73- [13x] 1S > S S Jlesiwl
-72-14x+24=0

Slglus 1- 581 (13,8 J> 5 S Jlanitanl  paadtd (£ 5020
- [4x] A3-xA2-11x-6=0:0m o3> §

ol § opnd (£50uae 35 o (257 § Slglae 3 51
- [2x] A3- [3x] 72-11x+6=0:S J> 5SS
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21. Use synthetic division to find the quotient &remainder,
when: (4x3 — 5x + 15) =+ (x + 3).

22. Use synthetic division to find the quotient &remainder,
when: (x3 + x2 = 3x + 2) + (x — 2).

23. Use synthetic division to find the quotient &remainder,
when: (x3 + x2 — 7x + 2) + (x — 2).

(Most Important LONG Questions)

1. Solve by using synthetic division if 3 and 4 are the
roots of the equation: x* + 2x3 — 13x? — 14x + 24 = 0.

2. Solve by using synthetic division if —1 are the roots of
the equation: 4x3 —x2 — 11x — 6 = 0.

3. Solve by using synthetic division if 3 are the roots of
the equation: 2x3 — 3x? — 11x + 6 = 0.

4. Solve by using synthetic division if 2 are the roots of
the equation: x3 — 28x + 48 = 0.

5. Prove:x®+y3+23 —3xyz=(x+y+2)(x + wy +
w?z)(x + w?y + wz).

6. Show that the equationx? + (mx + c¢)? = a?

has equal roots c? = a?(1 + m?).

7. Solve the simultaneous equation: x + y =5 :
x2—2y—14=0.

8. Solve the simultaneous equation: 4x? — 5y = 6,

3x% + y? = 14.
9. Solve the simultaneous equation: x? + 2y? = 22,
5x% + y? = 29.

10. Find the value of h using synthetic division if 3 is the
zero of the polynomial 2x3 — 3hx? + 9.

11. Find the value of h using synthetic division if 1 is the
zero of the polynomial x3 — 2hx? + 11.

12. Find the value of k if the roots of the equation are
equal Bk +2)x2 -5k +1)+(2k+3)=0

ol § @und (£51uan 35 o (257 § Slglae 2 551
X13-28x+48=0 :)S J> S S
XA3+yA3+4273-3xyz= [ :0)S el

S((x+y+z) (x+wy+w] 22 2) [(x+w] 72 y+wz
xA2+(mx+c)A2  [=a] A2¢lgluw 4S 5SSy
-cM2=a"2 (1+m”2) U 5> Soluwe

XHY=5 1S J> 55 Wlglune B9 Ko
XA2-2y-14=0

¢ [4x] 72-5y72=6:p)S J> oS Olglun cdg S
- [3x] r2+ynr2=14

XA242y12=22 1 )8 > o5 Wlglune By Ko

- [5x] A2+yn2=29

O )8 (Sh 3 g0 35S Jlemil B oundS (£ giuas

8 [2x] A3- [3hx] 722+9 &l AS3 31 S
-db)-w

G )8 ($h 3 g 35S Jlesinl B ol (£ 90
a0 ExA3- [2hx] A2+11 eMeYeS'1 Sl (S
-

09w lp 5> § ©lslua 1 (S pelae U3 Sk
)+(3k+2)x72-5(k+1)

[3x 1:008 pslas cuesd § L9 § Slglus )55z

] 72+7x-13=0

xN2+3x+5=0:

XA2- 1 i pyS 5 Egluan 9l degaze 8 g5
-5x+3=0

[2x] @ :pS (6 goimma ygl degazn 8 U5
A2+3x+4=0

[3x] 11008 S Eormmn y5l dcgaza 05>
-A2+7x-11=0

prens (F9han o & 355 il 58 oile byl A
A(x] A247x-1)+(x+1)) toz e2yS Jleasiul
e (F9han o & 355 il 58 oile byl A
-(x] A3-5x+15)+(x+34)] tezr ¢(2)S Jeasul
ool (£ginnn o & 35S (5 S oile b y9l da>
S(x] A3+x7A2-3x4+2)+(x-2)] to c2yS Jlemiwl €
prend (F9han o § 3,5 (i 58 oile 8L gl A
S(x] A34xA2-7x+2)+(x-2)] ez ¢S Jleatiasl €

CHAPTER#3

(Most Important In All Boards) Repeated many times.
(SHORT Questions)
1. Find a mean proportional to 16 & 49.
2. If x and y? varies directly, and x=27 when y=4. Find
the value of y when x=3.
3. If x and y? varies inversely, and x=27 when y=4. Find
the value of y when x=3.

A8 Ul b (&S (ol e s 0 33y9 plad)

(5 3 542)

-5 5 el Jauwg) 649 59 16

o X=27 )9l o 3 9 elisie Cwly olya yA2 9l x)f\
-X=3 G S G )8 Sy -y=4

V=4 Xx=27 9l e 3 g alisee W yA2 ol x;\
-X=3 o S S )8 Sy

Sameer Owaisi (Director, TCA Sialkot/ Founder, The Concise Educational System) Email:
conciseacademy7@gmail.com Contact: 0348-7991800 WhatsApp# 0323-8379598




CONCISE

=K

THE CONCISE ACADEMY

ADDRESS: Defense Road, Sialkot, Branch#1 0323-8379598, Branch#2 0332-8612306

RHBE© o N o &

10.

Find the third proportional to 6,12.

Ify « i and y=4 when x=3, find ‘x” when y=24.
Find the third proportional:a? — b%,a — b.

Find the mean proportional between 20 & 45.

If A x riZ and A=2 when r=3, find ‘r’ when A=72.
If y « x and y=7 when x=3, find ‘y’ in terms of ‘x’.

. Find the mean proportional between:20x3y>, 5x7y.
. Express as a ratio a:b and as fraction in its simplest

form. 27min 30sec, 1 hour.

. If the ratio 3x+1:6+4x and 2:5 are equal, find the value

of ‘x’.

. If y o x and y=8 when x=2, find ‘x’ when y=28.

(Most Important LONG Questions)
a ¢ e ad+c3+e3 ace
|f; =28 ;,then show thatm = E

Ifa:b :: c:d(a, b, c,d) + Othen prove that %=

\/ﬁ
Ifa:b :: c:d(a,b,c,d) + Othen prove that % =
6a—-5b _ 6¢c—-5d

6a+6b  6c+6d’

Ifa:b :: c:d(a,b,c,d) + Othen prove that % =
4a-9b _ 4c-9d

4a+9b  4c+9d’
Find the value of

x-3y x+3z

x+3y x-3z
; , 3yz
using CD theorem if x = y—z
Find the value of 222 4 X*2% 1,
xX—=2y X—2Z
, : 4yz
using CD theorem if x = 4
y+z
. L Vx+3+Vx-3 i
Solve by using CD theorem: NN At
. L VaZ424VxZ-2
Solve by using CD theorem: e

If m x n—13and m=2, when n=4, find m when n=6 and n

when m=432.
If w oci andw =5,whenz =7, find w when z = 1775.

-5 B Gl |3 §°6,12

e X' S b x=3 r y=4 gl yocl /x S
-y=24

-an2-b"2,a-b:yS K Cwlisio |auc

025 P lite Jawwsl Olays 8 45 91 20

e oS T $5 r=3 o A=2 49l Ax1/rA2 3
-A=72

Y a Blod & X ex=3 e y=7 gl yoox S|
-5

[5x] « [20x] 73 yA5 :(1,S 2 cwls (laays
ANy

25k & S pglarh s (e S ¢py3 Ol (§ ol
agS 1 (i 30 e 27 - (2)S lls

48 X' ¢ o ol 2:5 )9l x+1:6+4x3 cwli S|
-5 pybee

2y=28 o X' (25S  ex=2 > y=8 )l yocx )3
(15 s ) L)

S 5S> ¢ ca/b=c/d=e/f )3
-(a?3+c”3+e”3)/(br3+d"3+fA3 )=ace/bdf

&S S el sazbiicid(a,b,c,d)20 S
-a/b=V((a”2+c”2)/(b"2+d"2))

a/b=(6a- 45 S o ya:b::c:d(a,b,c,d)z0 S
-5b)/(6a+6b)=(6c-5d)/(6¢c+6d)

a/b=(4a- &S »,S o ya:b::c:d(a,b,c,d)z0 S
-9b)/(4a+9b)=(4c-9d)/(4c+9d)

daydy (0,S (D5 HuB (S (x-3y)/(x+3y)-(x+32)/(x-32)
x=3yz/(y-z) )3V 3 g 3 ;S Jlaasws! € o294¢3 CD
oS B )8 (S (x+2y)/(x-2y)+(x+22)/(x-22)
dAx)dy

x=4yz/(y+2) S5V 5 5 3 S Jlasinl § 039,45 CD
(00S J> 390 3,5 Jlasinl § @1)5045 CD
-(V(x+3)+V(x-3))/(V(x+3)-V(x-3))=4/3

(00S J> 390 3,5 Jlaainl § @1)5445 CD
S(V(xA2+2)+V(x22-2))/(V(xA2+2)-V(x"2-2))=2
S m S G «n=4 > «m=2 )9l moc1/nA3 3
-m=432 = n y9/ n=6

W 2S5 227 e ew=5 y9l wexd/z LS
-z=175/4

CHAPTER#4

(Most Important In All Boards) Repeated many times.
(SHORT Questions) & (Most Important LONG Questions)

x—5

A8 Ul 5l (&S (ol e s o0 3359 plad)
(©Ylgee Joslo @l GLeidl) Hol (V9w 3 54)

1. Resolve into partial fraction:x2+2x_3. -(x-5)/(xA242x-3):2sS > e S S5

2. Resolve into partial fraction:——t>— -(3xr3)/((x-1)x2)):05 J> e S 957

P (x—31x)f;+2) Bx+7)/( [(x] 1028 J> o S S95>

3. Resolve into partial fraction:———. S((M2+1)(x+3
(x%+1)(x+3)
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4. Resolve into partial fraction:— = -(7x+8)/((3x+2) (x+1)):05S J> e S S5
_ _ ISR (] A2-1) (1)) 1S Jo e S 932
5. Resolve into partial fractlon:—(xz_l)(xﬂ). - [(x-1)(x+2)] 82/9:05,8 U cne S G95
6. Resolve into partial fraction.————. -(7%-25)/((x-4)(x-3)):0255 J> (e S S95
(x;}lc)_(azc;-Z) (Bx-1/( T(x] A2-1:0058 J> o S S93>

7. Resolve into partial fraction:———.

(x=4)(x-3)

8. Resolve into partial fraction: 3f_1 :
(x2-1)
CHAPTER#5
(Most Important In All Boards) R_epeated many times. LS Ul o &S (o o o S o)
_ (SHORT Questions) (Y gee 3 5e2)
1. Write all the subsets pf the set {a,b}. oS G (3 a3 § {a,b}
2. If A=N, B=W, then find A — B. -02)S D6 A-B 95 <B=W A=N S
3. If set M has 5 elements then find the number of binary Slial (§ ©lalad 8L g M 5 oy molis 5 ot M o S
relations in M. -8
4. IfX={2,4,6......20} and Y={4,8,12......24} then find X-Y. | -oS3BXY${24...4,8,12}=V ;5! {20......2,4,6}=X
5. If A={a,b} and B={c,d} then find AxB & BXA. ~S A BXA 2ol AXB 53 B={€:‘dbﬁ‘ A={a,b} 5!
6. Find MxM, it M={d.e.f.q}. ),S )6 XUY, Yux-M{_z{i'es’gi\)(s ]‘fﬁufg}yg
7. 1 X={1,4,7,9} and Y={2,4,5,9} then find X UY,Y U X, e i Al
XnY,YnX. .~ . S men &
’ . -05S U BXB 9! AXA g5 {1,3-}=B 9! {0,2,4}=A 3
8. If A={0,2,4} and B:{'1,3} then find AXA and BXB -uj)subw diky S50 90 2 LxM g {3,4}=L={a,b,c}, Mﬁ‘
9. If L={a,b,c}, M={3,4} then find two binary relation of LxM. 3l 586 95 S MxL sl LxM 5 L={a,b,c}, M={d,e,f g} ,3
10. If L={a,b,c}, M={d,e,f,g} then find two binary relation of —0S s
LXM & MXxL. oS U gy gl (nesd B R:R={(b,a)(c,a)(d,a)}
11. Find the domain and range of R:R={(b,a)(c,a)(d,a)} -(R:R={(1,1)(2,3)(3,4)(4,5
R:R={(1,1)(2,3)(3,4)(4,5). -8 W VXY iy 558b 99 53 {2,1,2-)=Y S|
12. If Y = {—2,1,2} then find the two binary relation YxY. wsv"*’ PV ‘+"Xj\® Y=Z 5
13.1fX=0,Y =Z"then find XNY,XUY,YUX,Y N X. ~oSESSKOTYO T O 5! ‘(ﬁ ;‘fq’ li +TZ‘3§)‘
— A - — Nt g SIgw o

14.1fX=0,Y =Z",T = 0%, then find XnT,YUT, Y NT. (12,3,4,5,8)<B 151 {1,3,5,7,9)=U={1 2 3.. 10} A 5
(Most Important LONG Questions) (b- sl [(ANB)] Ac=AACUBAC 45 (3,5 il e
1. fU=1{123...10},A ={1,3,57,9} and B = {2,3,4,5,8}, -A)AC=BACUA
Then prove that (AN B)¢ = A°UB° & (b — A)° = B° U A. {1,4,7,10}=B ,s! {1,3,5,7,9}=U={1,2,3....10},A ,S|
2. fu=1{123...10},A ={1,3,5,7,9} and B = {1,4,7,10}, .. [(AnB)] Ac=AACUBAC & A-B=ANBAC 45 (13,S <ol g
Then provethat A— B =ANB° & (AN B)¢ = A° U BC.. {1,2,3,4,5,6}=B »5! {2,4,6,8,10}=U={1,2,3....10} A )3
3. fUu={1,23...10}4={2,4,6,810} & B = {1,2,3,4,5,6}, -02S Baas § 088 & 0590 S350
Then verify De-Morgan’s Law. € S <36 55 {1,4,8)=A={1,2,3,4,5,6} B={2,4,6,8} C S|
4. 1f A={12,3,4,56} B={2,4,6,8} C={1,4,8} then prove that N Rt | A
the following: A N (B U C) = (AN B) U (AN C). {17...1,3,5)=U={1,2,3....20} X={1,3,5,7,9,15,18,20} Y ,|
5. 1fU={123...20} X={1,3,5,7.9,15,18.20} Y={1,3,5....17} YX= [YOX] feiaS 9leSs 54

Then show that: Y — X =Y n X¢.

CHAPTER#6

(Most Important In All Boards) Repeated many times.

=

(SHORT Questions)
Find range 12,6,7,3,15,10,18,5.
Find the arithmetic means by direct method:
200,225,350,375,270,320,290.
The salaries of 5 teachers are: 11500,12400,15000,
14500,14800, find the mean salaries.

A8 Uld Jb (55 (el e s o 3390 plad)
(Yl 3 94)

-03,50%35 12,6,7,3,15,10,18,5 v .1

S B 5 S (ool e dlplo ey oy 2
-200,225,350,375,270,320,290
<11500,12400,15000 :n o' g3 écJ&LA 5.3
- 025S Y ol g3 Laes] (14500,14800
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4. Find the mode of the following data:
4,455,6,6,6,7,7,58,8,8,6,5,6,5,7

5. Find the mode: 9,3,8,8,9,8,9,18.
6. Find the arithmetic means: 34,34,34,34,34,34.
7. Find the arithmetic means for the following F.D.
No.of Heads X | 1 | 2 3 4 )
Frequency 3| 8 5 3 1

(Most Important LONG Questions)
1. Find the standard deviation of five teachers’ salaries:
11500,12400,15000,14500,14800.
2. Find S.D & variance: 9,9,8,9,9,8,9,18.
3. Find S.D & variance:; 10,8,9,7,5,12,8,6,8,2.
4. Find the arithmetic means by direct method:

12,14,17,20,24,29,35,45.
5. The marks of six students in mathematics, find S.D
StudentNo | 1 2 3 4 5 6

Marks 60 | 70 | 30 | 90 80 42

Q:DSL,@&S 3_9A 6&33 B3 Gl 4
4,45,5,6,6,6,7,7,5,8,8,8,6,5,6,5,7
-9,3,8,8,9,8,9,18 u.;;uﬁ:)b 3¢0.5
-34,34,34,34,34,34 u.:;d’bya dlao S@ob) .6
-u:\;ui:w é‘_)& s 2L “é S F.D Jd T 7
X123453\J.335_5.1M

13583 0uxs

(g Lo ol 3LB))

f02S U GBlymuil ()laae 8 0gulgd (§ ol il .1

.11500,12400,15000,14500,14800
-9,9,8,9,9,8,9,18 13,5 (5 i .2
-10,8,9,7,5,12,8,6,8,2 135S (26 _pi5 .3
1028 G D3 & (52L) e 4yl ol o2 4
-12,14,17,20,24,29,35,45

25 W S.D e & sl gz e 92L) .5
654321 e ole LI

42 80 90 30 70 60 (wS)le

CHAPTER#/

(Most Important In All Boards) Repeated many times.
(SHORT Questions)

1. Find tanf when cosf = % and terminal side
of the angle 0 is in fourth quadrent.

2. Prove that: tanfsinfsect = tan?0.
3. Provethat:1 + tan?8 = Sec?6.
4. Prove that: cotf.secf = cosecH.
5. Prove that: (tanf + cotf)tanf = Sec?8
6. Prove that:cos*6 — sin*0 = cos*6 — sin?6.
7. Convert into radian:60°
8. Express 225° & — 225° into radian.
7T .
9. EXxpress ry into degree.
10. Express %” into degree.
11. Express 113—6” into degree.
12. Express 2?” into degree.
13. Express _77” into degree.
14. Express 4.5 radians into degree.
15. Locate the angle
16. Find [, when 8 = 180° and r = 4.9cm.
17. In a circle of radius 10m, find the distance travelled by a

point moving on this circle if the point make 3.5 revolution.

(1 revolution= 2m).
18. Findrwhenl = 4cm and 0 = % radians.
19. Find 8 when |l = 4.5m° and r = 2.5m.

s 2
20. Prove that: sin”6 + cosO = sech.
cos@

21. Express into D°M’S" from 315.18°.
22. Express —150° into radian.

LS Ll Jb (58 (ol e w0 3392 plad)
(Ylgew 3 547)

il Jixnys y9l c058=9/41 caz (S (o tand
- e SsSB4l

.tanBsinBsecB= [tan] 728 :45 S ol

- [tan] ~20= [Sec] 726 +1:45 p,S ol
-cotB.secB=cosech :45 p,S ol
(tanB+cotB)tanB= [Sec] 726 :45 S ol
[cos] ~46- [sin] 246= [cos:aS St
-] ~46- [sin] 7206

°60 1(pyS b (e )

-u._;)fﬁUb e 5)33:_:)55225"-& 225°

S b e (5,53 5S /87

S b (e (553 $S /43

oS el e 6583 $S /1613

-5 B (e 6,55 $STT/32

-5 > (e 683 55 T)/87-(

028 B (e 6585 68 (dyy 4.5

-0S U 49l

-r=4.9cm )9! 0=180° .z ¢(2,S W |

9 2.5 8> 1 o 1> ol e 2 515 & M10 el
w;‘uﬁjsﬁ}l}ﬁwbbméé‘})siw@‘
- BS Ol 3.5

-(m2 = oMl 1)

05w opdy 0=1/4 5l I=4em o (S G
-r=2.5m 9! °1=4.5m <= (S 4 0

-( [sin] 72 8)/cosB+cosB=sech :4S p,S ol
-0S syl e "D°M'S e 315.18°

-5 el (e () 9S°150°-
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23. Express 300° into radian.
24. Express 135° into radian.

25. Locate the angle in XY-plane135°. & 22 %°.

(Most Important LONG Questions)

1. Prove that: sec — cosf = tan0sinb.

2. Prove that: sinf(tanf + cotf) = secé.

3. Prove that: tan® + cot8 = secOcosech.

4. Prove that: (tanf + cot6)(cosf + sinf) = (sec +
cosecO.

5. Ifcos = _?2 and the terminal arm of the angle 6 is in
quadrant 11, find the value of remaining trigonometric
function.

6. Iftanf = g and sin < 0 find the values of other
trigonometric functions at 6.

7. Ifsinf = _73 and cos0 = ‘1—7, then find the values of
tanb, cot, secO and cosech.

8. Prove that =28 _ 1510 _ 5 hsech.

1-sinf 1+sinf

9. Prove that: (1 — sin?0)(1 + tan?6) = 1.

10. Prove that1+,c—ose + Sind S 2cosecH.

sin6 1+cos6
pl 2

11. Prove that — + e 2cosec<0.

1+cosf _  sinf

12. Prove that

1—cosf  1-cosf’

-5 el e () 55°300°

-5 el e () 55°135°

°2/122 & -()S ) 4gly ywe XY-planel35°
(S5 s el S3)

.5ec0-cosB=tanBsind :4S (1, culi
.sinB(tanB+cotB)=secB :45 (3,8 b
-tanB+cotB=secOcosechd 145 (,S b

45 oS et
.(tanB+cotB)(cosB+sinB)=(secB+cosecO

o Il 3168 93 Jivass 88 43l 9l cos=(-2)/3 |
-0 polae 5B (§ Jad ke 4l 65

o8 (§ Jladl sie 2 g 0>sin 9l tanB=4/3 S|
-02S 6 2 0

O ()8 (§ el 63 «cosB=V7/4 9! sinB=(-3)/4 3
-oS

-cosecH )3l secB «cotB «tanB
(1+sin0)/(1-sinB)-(1- 45 (3,8 el
-sinB)/(1+sinB)=2cosecO
(1+sinB)/(1-sinB)-(1- < L S <l
-sinB)/(1+sinB)=2cosecH

A Sl
-(1+cosB)/sinB+sinB/(1+cosB)=2cosecH
(1-cosB)+1/(1+c0s8)=2 [/1 S LS b
-cosec] 26
((1+c0sB)/(1-cosB))=sinB/(1- ~S S <l
-cos0)

CHAPTER#8,9,12,13

(Most Important In All Boards) Repeated many times.

91 553

(SHORT Questions)

(Most Important LONG Questions)
In a AABC, calculate mAB = 5¢cm, mAC =
4cm, msA = 60°
InaAABC,a = 17cm b = 15¢cm,c =
8cm, find msA, msB
What is radian measure of the central angle oif an arc
50m long on the circle of radius 25m.
How many minutes are there in two right angles?
Find the area of the sector of a circle of radius 16cm if the
angle at the centre is 60°.
Whether the triangle with sides 3cm, 4cm and 5cm is acute,
obtuse or right angled?
Whether the triangle with sides 5cm, 7cm and 8cm is acute,
obtuse or right angled?

m2£A=60°m(ACI=4cmem(ABT=5cm ¢« ABCA
u;d@ Oluws Y

m4£BimzA ca=17cm b=15cm,c=8cm ¢ ABCA
S b

G550 55 5 098 el M50 3 2 515 & (wly) m25
- WS dlog cpdy K sl

Tum 390 Soe &S (e Vg9l oo 9

§ 25135 cm16 L,y $ %60 wsly e 355 S|
-02S polae 48y K S

Blybl & s s 559l Sus (sias 4 s (sias 3 LT
q:d, gy ol b 3lgl cdpdds cdie Vlg

Bhbl & A Giaw 8 )9l o i 7 ¢ o (fiawn 5 LT
94 gy sl b 3lgl cdpds Edie Vg

Sameer Owaisi (Director, TCA Sialkot/ Founder, The Concise Educational System) Email:
conciseacademy7@gmail.com Contact: 0348-7991800 WhatsApp# 0323-8379598




'“@“ THE CONCISE ACADEMY

ADDRESS: Defense Road, Sialkot, Branch#1 0323-8379598, Branch#2 0332-8612306
CH#13 CH#13
8. The length of the side of a regular pentagon is 5cm what is . _ )
its perimeter? o e em5 Gled § 2 )US & 058l 0Bl SO -8
9. The length of each side of a regular octagon is 3cm. ) ) ‘ o S E&vﬁ‘é s
Measure its perimeter. S i 3 Gl § b s § (SESTouclBl S .9
- wlay S 2SS ol -
.9 Theorem (Compulsor 08 idley :
Q ( P y) (@Y) posee Q.9
CH#09 CH#09
No.2 (7 times imp), No.3 (4 4 23 <(Imp 5k 4) 3 a3 (imp UL 7) 2 el
. ] ] (imp b 2)
times Imp), No.4 ( 2 times imp) (imp 5k 5) 5 e
No.5 (5 times imp) . _ CH#12
4 105 (imp LL 5) 2 aed ¢(imp LL 9) 1 aes
CH#12 (imp L 3)

No.1 (9 times imp), No.2 (5
times imp), No.4 ( 3 times imp)
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